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X = linspace(0, 2*pi); % * 0 3| 2*pi & >
% & P~ 100 B 2

v1 = cos(x);
v2 = exp(2*x);

plotyy(x, y1, x,¥2); % 3 4'% BHE 7 B o
y b o Byl y2
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X = 0:0.1:4*pi; 2 x 2 HEF

subplot(R, 2, [1); plot(x, cos(2*x)) % ¢ 5 = + & B3

subplot(2, 2, 2); plot(x, sin(2*x)); % 5 + } % @7}

subplot(2, 2, 3); plot(x, cos(x).*exp(-x/5)), % i & =
= & B
subplot(2, 2, 4); plot(x, x.3); % Mt 5 &
= & B
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t = 0:0.1:2*pi;
X = 5*cos(t);
y = 2*sin(t);

subplot(2, 2, 1); plot(x, y);|axis normal
subplot(2, 2, 2); plot(x, y);|axis square

subplot(2, 2, 3); plot(x, y);|axis equal

subplot(2, 2, 4); plot(x, y);| axis image
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= linspace(0,2*pi,20);

y = sin(x);
e =y*0.1; %7 & F510%
errorbar(x,y,e) %= HH R 7= i [E
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* hist(x,n)
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— x =randn(100,1); %7 17— 100* 1175 g 1 FE fe
— hist(x,20) i@ H T E







